



If the force does not depend on time, as in a typical beam line magnet, the energy is conserved so that one can reduce the dimension to 5.

Furthermore, the time dependence is often not as interesting as the trajectory along the accelerator length "s". Using "s" as the independent variable reduces the dimensions to 4.

$$\frac{d}{ds}\vec{z} = f_z(\vec{z},s) \;, \quad \vec{z} = (x,y,p_x,p_y)$$



Usually one prefers to compute the trajectory as a function of "s" along the accelerator even when the energy is not conserved, as when accelerating cavities are in the accelerator.

Then the energy "E" and the time "t" at which a particle arrives at the cavities are important. And the equations become 6 dimensional again:

$$\frac{d}{ds}\vec{z} = \vec{f}_{z}(\vec{z},s), \quad \vec{z} = (x, y, p_{x}, p_{y}, -t, E)$$



Equation of motion in linear approximation

$$\begin{array}{c} & & pakiek ponibion vector: \\ \overrightarrow{r} = \overrightarrow{R}, + r \overrightarrow{e}_{x} + 2 \overrightarrow{e}_{y} \\ & r \in S + x \\ \overrightarrow{r} = \overrightarrow{S} + x \\ & for \ conclusional d \ (cylinderial coordinal)) \\ & d\overrightarrow{e}_{x} = \overrightarrow{S} + x \\ & for \ conclusional d \ (cylinderial coordinal)) \\ & d\overrightarrow{e}_{x} = \overrightarrow{S} + x \\ & for \ conclusional d \ (cylinderial coordinal)) \\ & d\overrightarrow{e}_{x} = \overrightarrow{S} + x \\ & for \ conclusional d \ (cylinderial coordinal)) \\ & d\overrightarrow{e}_{x} = d \ (\overrightarrow{e}_{x} + \overrightarrow{e}_{x} + 2 \overrightarrow{e}_{y} = -d \ (\overrightarrow{e}_{x} + \overrightarrow{e}_{x} + 2 \overrightarrow{e}_{y} = -d \ (\overrightarrow{e}_{x} + 2 \overrightarrow{e}_{y} + 2 \overrightarrow{e}_{y} + 2 \overrightarrow{e}_{y} = -d \ (\overrightarrow{e}_{x} + 2 \overrightarrow{e}_{y} + 2 \overrightarrow{e}_{y} = -d \ (\overrightarrow{e}_{x} + 2 \overrightarrow{e}_{y} + 2 \overrightarrow{e}_{y} + 2 \overrightarrow{e}_{y} = -d \ (\overrightarrow{e}_{x} + 2 \overrightarrow{e}_{y} = -d \ (\overrightarrow{e}_{x} + 2 \overrightarrow{e}_{y} + 2 \overrightarrow{e}_{y}$$

Matthias Liepe, P4456/7656, Spring 2010, Cornell University

Equation of motion in linear approximation

$$=) \text{ with } r = g + x , g = const \text{ within } g \text{ with } dipole magnet
m(x - r \theta^{2}) = -r \theta(p_{0} \frac{1}{g} \pm p_{0} kx)
m \ddot{e} = \pm r \theta p_{0} kz
=) sing v_{g} = r \dot{\theta} > V_{x}, V_{g}
=) v_{g} = r \dot{\theta} \approx 1 \overline{v} \frac{1}{2}$$

$$=) v_{g} = r \dot{\theta} \approx 1 \overline{v} \frac{1}{2}$$

$$=) v_{g} = r \dot{\theta} \approx 1 \overline{v} \frac{1}{2}$$

$$=) v_{g} = r \dot{\theta} \approx 1 \overline{v} \frac{1}{2}$$

$$=) v_{g} = r \dot{\theta} \approx 1 \overline{v} \frac{1}{2}$$

$$=) v_{g} = r \dot{\theta} \approx 1 \overline{v} \frac{1}{2}$$

$$=) v_{g} = r \dot{\theta} \approx 1 \overline{v} \frac{1}{2}$$

$$=) v_{g} = r \dot{\theta} \approx 1 \overline{v} \frac{1}{2}$$

$$=) v_{g} = r \dot{\theta} \approx 1 \overline{v} \frac{1}{2}$$

$$=) v_{g} = r \dot{\theta} \approx 1 \overline{v} \frac{1}{2}$$

$$=) v_{g} = r \dot{\theta} \approx 1 \overline{v} \frac{1}{2}$$

$$=) v_{g} = r \dot{\theta} \approx 1 \overline{v} \frac{1}{2}$$

$$= \frac{1}{2} \frac{\dot{z}}{r} = \frac{1}{2} \frac{v}{r} \frac{1}{r} \frac{$$

Matthias Liepe, P4456/7656, Spring 2010, Cornell University



linear, unperturbed equation of motion have homogeneous differential equation: $u'' + \mathcal{K}(s) u = 0$ $u'' + \mathcal{K}(s) u = 0$ uible bime - dep. / s - dep. frequency(eg1) where is stands for x or z and $\mathcal{R} = \pm k + \frac{1}{82}$ or $\mathcal{R} = \pm k$ for given =) principal Johnstons (there should be two linearly indep. solutions!) for $\mathcal{R} = const$: for $\chi > 0$ ((s) = cos ($\sqrt{\chi}$ s) and $S(s) = \frac{1}{\sqrt{\chi}} Sim(\sqrt{\chi} s)$ for X < o (CS) = $cosh(\sqrt{13x_1S})$ and $S(S) = \frac{1}{\sqrt{1.271}} sinh(\sqrt{13x_3})$ Slide 13 Matthias Liepe, P4456/7656, Spring 2010, Cornell University with initial conditions: $C(0) = 1 \qquad C'(0) = \frac{dC}{ds} \Big|_{0} = 0$ (lqu. 2) S (0) = 0 $S'(o) = \frac{ds}{ds} \Big|_{S} = 1$ =) any arsitrary solution ((CS) can be expressed as a linear combination of these two principal solutions: $\mathcal{U}(S) = \mathcal{C}(S) \mathcal{U}_{o} + S(S) \mathcal{U}_{o}'$ $u'(s) = c'(s)u_0 + S'(s)u_0'$ { (equ. 3) where Us and Us' are the initial values of U(s) and U'(s) at SEO

· general bean line with several magnets: $\mathcal{X} = \mathcal{X}(s)$ =) principle solutions (so-called sine like and cosine like solutions) can be found with initial conditions as above for J2 = const case! Lu"+ R(s) u=0 insert ansatz (equ]) =) $[S''_{(s)} + \mathcal{K}_{(s)} S_{(s)}] u_{*} + [c''_{(s)} + \mathcal{K}_{(s)} c_{(s)}] u_{0}^{\prime} = 0$ for any initial condition (Uo, Uo') =) $S''(s) + \mathcal{K}(s) S(s) = 0$ $C''(s) + \mathcal{R}(s)((s) = 0$ i.e. glacked solution can be written as a sum of two linearly Independent solutions ((s) and S(s)] Matthias Liepe, P4456/7656, Spring 2010, Cornell University Slide 15 Matrix formulation: solution (eq.)) of equ. of motion (1) now: in matrix formulation $\begin{bmatrix} u(S) \\ u'(S) \end{bmatrix} = \begin{bmatrix} c(S) & S(S) \\ c'(S) & S'(S) \end{bmatrix} \begin{bmatrix} c'(S) & c'(S) \end{bmatrix}$ at exit transformation initial of beauline/ matrix of given condition masset magnet beautine/ magnet =) from R = const solutions: can obtain transformation matrix for each invividual beam line element (magnet) =) by repeated matrix multiplication, can follow particle trajectory along a complicated beam line! Slide 16 Matthias Liepe, P4456/7656, Spring 2010, Cornell University